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Time: 30 Minutes | Paper Math 6 (T-1) Total Marks: 25

(x) HCF of 36 and 108 is: e ‘ Iy6108.2136

| 1st Month, 4th Week, 6th Day | Unit # 1: Factors and Multiples |

Q.1. Choose the correct options. (1x13=13) -q’/gl's:'l(..,«lﬁwu
ko154 L9

(i) First five multiples of nine are:

(a) 36 (b) 40 ©| 108 |@ 22

(xi) Prime factorization of 36 is: «~y f:/" d/ 36

@@ 1x36 |b)| 2x18 [(@©]2x2x3x3 |d)]2x2x2x3x3

(a)| 9,18,27 |(0)[9,18,27,36,45/(c)| 9,18,27.36 |@)| All oV

(ii) Which of the following is the composite number?

?‘aw../(/ l/u:’/a,ufdj 3l

(xii) An integer which is neither positive nor negative is:

i bstnt S u‘,;»m;é?;zmij (2

(a) 29 (b) 41 (©) 39 (d) 37

(iii) Symbol use for the set of integers is:

Z‘LL}MJWL:/&"AL&:LJLM(;‘;

(a) N (b) s (©) R (d) Z

(iv) Which of the following is not integer?

?‘Luf"’;ﬁ 5" Vc}:'/c_uf.' J.. 3 TON)

@ 42  |m 35 © += |@ 0

(v) LCM of 25 and 65 is: e PIlibesl 36655125

@| 325 |m 25 (©) 65 @@| 625

(vi) What is the square of —9? ?‘ggf&/( -9

@ 81  |m 81 © 9 (d) 9

(vii) The ascending order of -5, +3, -1, 0, -3 is:
e $ret s -5, +3,-1,0,-3

(a) -5,-3,-1,0,+3 (b) -5,+3,-3,-1,0

(©) 0,-1,-3,-5,+3 (d) -5,-3,+3,-1,0

(viii) 14 is the factor of: | 14
(a) 22 (b) 42 (©) 55 (d) 62

(ix) |-10] = ?

@ -10 | 10 (©) -9 (d) 9

(C)) 0 (b) 1 (©) 2 (@) 3
(xiii) What is the value of "S" on number line? Se=dU(§ "S" 417
S
-l oy
T T T I
-10 -5 0 10

@ 5 o -0 Jol o Jaof s
Q.2. Solve the followoing. (4x2=8) SIS stn

(1) Find the relationship between HCF and LCM of 680 and 584.
G Pl P Szt P06 584.01680
(i) Arrange the absolute values of the following integers in
ascending order. —18, 14, —12, -84, 44, 48.
ot )6 B S S 5t
(iii)) What is the HCF of any two prime numbers?
fe L&‘Mb Ay ST J;’/
(iv) Draw the number line and represent the following points on it.
0,-8,6,3,—11 and —13-f S 6, bt 3Gl ) beflF
Q.3. Prove that prime factors of 2600 are same using division

method and factor tree method. (1x4=4)

UneE e B AL SIOE) B 3 FL e L 2600 S Sert



